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A, S IRH Y 4 TR T Sed & | T T
e o W 2 | A e T B8 I
2 | areqa 1 o B B TREEA R 7

(1 13 (2) 2/3
(3) 4/9 4) 5/9
T e fp T s T W §9
J & T IoTE S §, 4 X IDTA d
fist <51 g ) uian @ E(X) 1 &
A BT 7
1) 3 @) 112
®3) 312 (4) T HE T
o wifReRa BFcd e o ol

k2 ,0<x<2

fm:{ 0 , I

k 1 O 81T
(1 1/8 (2) 3/8
(3) 2/5 (4) T Y HIE TE

mﬁ%n?_oaﬂ'{(}<p<1‘a€
o X ~ fxaé & (o, p) A >0
¥ R Y ~ @ s (L) 9H i
E[X] = E[Y], & -

(1) VX)=VE)

(2) V(X)<V(Y)

(3) VX)>V({E)

@) F© ¥ Fa TE S FRal

n = 10 30 p = 0.6 % @ fudi s
fere, E(x2) & -

(1) 304 ) 38

(3) 8 (4) 38.4

b -

A speaks truth 4 out of 5 times. A dice
is tossed. He reports that there is a six.
What is the chance that actually there
was six ?

(1) 13 (2) 2/3

| (3) 4/9 4) 519

Suppose an unbiased coin is tossed
thrice, then what is E(X) ? If X denotes
number of heads ?

1) 3 2) 12

(3) 312 (4) None of these

Let the probability density function

¢ __{ kx2 ,0Sx<2
() = 0 , otherwise

The value of k is given by —
(1) 1/8 (2) 3/8
3) 2/5 (4) None of these

Assume that X ~ Binomial (n, p) for
some n =1 and 0 < p <1 and
Y ~ Poisson (A) for some A > 0.
Suppose E[X] = E[Y], then

(1) VX)=V(Y)
(2) VX)<V(Y)
(3) VX)> V()
(4) Nothing can be said

For Binomial distribution with n = 10
and p = 0.6, E(X?) is

(1) 304 (2) 38
3) 8 (4) 384
00 (Stat., Maths., Agri. etc.)



10.

E[(aX + b)n] s & -

1), =, (f‘) an-ibi E(Xn-i) &
) z;;o(i“)an-ibn—iE(Xn-i)a‘s
(3) anE(X") +bi%

(4 Zf_aEXi)bi %

TSI p o W1 Sl e T SR R —
(1) p? (2) p(1-p)
(3) (1-p)2 4) p/(1-p)

X, ~ By, p,) 3 X, ~ B(n,, py) 7t
Z=X,+ X, H a8

(1) f59eRr 97 3FR 0, =n,

2) fowdi siet st p, =,

3) W@ﬁamm:nz

(4) @I ¥ W p, =p,

A AT X a1 W wnfieda w2
Rt wiirepar gveg wor
PX=t)=qp;t=0,1,2,....

iR FE i ar g 0

(1) P(Y=k+tX>k)=pqt

2) P(Y =k +tX <k)=pgt

(3) P(Y=k+t/X2k)=pgt

4) P(Y=k+tX<k)=pgt

e i % ww amRew W X W
MGF. A YR §:
(1+2¢t)?

27
WX B R -
(1) 12
(3) 3

M(t) =

(2 2
@ 1

00 (Stat., Maths., Agri. etc.)

10.

E[(aX + b)"] is equals to
(1) I, (1") an—ipi E(Xn-i)

2) Ein=0 (:') an-ibn-i E(Xn-i
(3) amE(X") + bi
@) I, ai E(Xi) bi

The variance of Bernoulli distribution
with parameter p is —

(1) p? (2) p(1-p)
(3) (1-p)2 4) p/(1-p)

If X, ~B(ny, p;) and X, ~ B(n,, p,) then
Z=X, +X, will follow

(1) Binomial distribution if n, = n,
(2) Binomial distribution if p, = p,
(3) Poisson distribution if n =n,

(4) Poisson distribution if p, = p,

Suppose X has a geometric distribution
with probability mass function :

PX=t)=q'p;t=0,1,2,....
Which of the followings is correct ?
(1) P(Y=k+tX>k)=pqt
2) P(Y =k +t/X <k) =pqt
(3) P(Y=k+t/X2k)=pgqt
(4) P(Y=k+t/X<k)=pqt

Let a random variable X has the M.G.F.
as:

t\3
M(t) = (1+2e")
The mean of X is
(1 112
3) 3

2) 2
@ 1



11.

12.

13.

14.

It X ~ N, 1)&@%9&5%1{2:% X2
2 B —
(1) -, WA Hife 1 %

1
11

i
4) B, [5’_2-]

1 xP-1
B(p,@) (1+x)P*1
p>0,q>o;%f%m,srmmww%?

T ()= ,0<x <00,

1y P @ L
p+q P

3) p=l @) p+l
q q-1

T y(ct, n) T AT HI & -
€ o Y
o (o ()
o o—1t
: a -n it n
3) (1—.—) @) [1—‘—)
it o

aﬁbyx=4ambw=%'a?haa=iéa
ot g

(1) 1/3 . (2) 43

3) 1/4 @ 23

11.

12.

13.

14.

IfX~ NI(O, 1) then the random variable
Z= % X2 follows

(1) Chi-square with 1 d.f.

1
(2) Gamma (E}
11
3) 31(5,5)
11
@ B, (5’-2—)

For the distribution f(x

B(p,q)
!
T i ey 0,0 O
(1+x)P*4
what is the harmonic mean ?
1
{1y 2 @ -
p+q p
-1 +1
@ = @ 2=
q q-1

The characteristic function of the
distribution y(ct, n) —

% -n -n
(1) [11] @) [ “.]
o) a—1t
bt 1] i n
3) [1-.5] @) [1—5]
it o

Ifb,=4and by = % then correlation

co-efficient is
(1) 173
3) 1/4

(2) 4/3
4) 2/3

00 (Stat., Maths., Agri. etc.)



15. °F +fife I (Pre § andt ) s

16.

17.

T (TSe & Amar ) F off" wgdey
T 0.40 8 | @ 39 8wt S=d
3t & A1 o BT FEdS T B 2
[12 39 = T B2; 16 3ii = T Urdg)

(1) 0.40

(2) 0.30

(3) 0.533

@) <E S § Ryt T8 e s
THATE |

ad oyt F, e i @ e
AR & F R # U NevEw sraemn T8
32

(1) IRFMyEAREIR TR |

(2) 3 =1 yE x & Tt wET F R
TR |

B) IeFaftam = |
@) IR EH= TS Rafa R |

T @1 H THHW, Y = mX + ¢ &, gR
c Y H TR E D -

(1) W@ Y-319 & ¥ 3 X-318 =
HEAT R |

2) WA g Aot R |
(3) W1 Y-3% F W R X-34 wr
e 2 |

@) T q B T
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15.

16.

17.

Suppose the correlation co-efficient
between height (as measured in feet)
versus weight (as measured in pounds)
is 040. What is the correlation
co-efficient of height measured in
inches versus weight measured in
ounces ? [12 inches = one foot; 16
ounces = one pound]

(1) 0.40

(2) 030

(3) 0.533

(4) cannot be determined
information given

from

In least squares regression, which of the

following is not a required assumption

about the error term € ?

(1) The expected value of the error
term is one.

(2) The variance of the error term is
the same for all values of x.

(3) All the values of the error term are
independent.

(4) The error
distributed.

term is normally

In the equation of a straight line,
Y=mX+c¢,ifcis equal to zero then

(1) The line cuts the X-axis to the right
of the Y-axis.

(2) The line passes through origin.

(3) The line cuts the X-axis to the left
of Y-axis. '

(4) None of these



18.

19.

20.

21.

Ife eferds 1 B TEEaY liH B

T T o SR 8, @ :

(1) T T H TEEET W@ G
THATT S Tl & |

(2) T =1 e wife ® arifves wenfd
2

(3) A= R e o gl sEEEfa R |

4) M = i B P w9 7w
2

T W URRAT, 5 W 3 TS HE | 3
st arelt g seRor foveiso F,
SHITT: TR 3T Ffe 3 T i & A

F R wEca R ®=E ?
(1) 20360 (2) 30350
(3) 20340 (4) 15365

frafafas ANOVA «ifeser Tl

Wﬁw%mmﬁm%:
s | @A ®R | Fw
i AT
T TITHA 1 122.5
rafte 3 15
T 4 200.0
T 3R ol =R % oY TEEeY & -
(1) 0.3875 (2) 0.6125
(3) 0.6225 (4) 0.7826
e oft 8§ 3wy Fgem Rt g sa |

THTT % I 1 JFTHHE TH—T AT Fehdl
27

(1) <k
(3) et

(2) IAfA
(4) Ffafa

18.

19.

20.

21.

If Spearman’s co-efficient of rank
correlation is equal to one, then :

(1) The total variation can be
explained by the regression line.

(2) The ranking of the two variable
partially agree.

(3) The ranking of the two variables
totally different.

(4) The ranking of the two variables
totally agree.

In a two way ANOVA with 6 rows, 5
columns and 3 observations per cell,
what are the degrees of freedom for the
sum of square due to interaction and
error respectively ?

(1) 20and 60
(3) 20 and 40

(2) 30and 50
(4) 15 and 65

The following ANOVA table is
obtained for a two variable linear
regression :

Source of | Degrees of | Sum of

variation freedom | squares
Regression 1 122.5
Residual 3 77.5
Total 4 200.0

The correlation between the dependent
and the independent variable is —

(2) 0.6125
(4) 0.7826

(1) 0.3875
(3) 0.6225

In time-series analysis, which source of
variation can be estimated by the ratio-
to-trend method ?

(1) Cyclical
(3) Seasonal

(2) Trend
(4) Irregular

00 (Stat., Maths., Agri. etc.)



22.

73

25.

26.

P IR AR 06 G HH=R
Tl BT IR AT FW & 7T 3730
Tera v @

(1) arferent et & Soft o et ofy
(2) dfeTenT Yot % Teh Soft & o7 §
(3) dforeRt Fit % Wen Soft F mey A
(4) T B oft 7

af foret Soft 3 we T ST WA E,
@ e g7 g sudn s %
fore fopn s @ 2

(1) S8 HIgA

(2) S T

3) wfinwrg

(4) TEHHEI

T % i omed frem o 3, R
& T ot foam ot gormn o 21

(1) B (2) 0y
(3) =t 4) 3
e srer fafy swaett St &

(1) 7eHAH gl W g

(2) WE IEHH g W E

(3) TS 3faTrel & Gy W 1g
4) o

Rd § dereeen & fem @ gaftm

TRt I TenTRrd foma sirar 2

(1) i ol s (Fmeetiars) g

(2) TEE g wEww Eed
(TAeETEaTT) gR

(3) e wifereh we (Femah) g

(4) rdvme 3R giferh vy PRy
(TEdisum) gr
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22,

23.

24,

25.

26.

The Newton backward interpolation
formula is generally used to interpolate
the values

(1) anywhere in the set of table values.
(2) atend of a set of table values.

(3) in the middle of a set of table
values.

(4) None of these

If the arguments in a series are not at
equal interval, the proper formula that
can be used for interpolations is

(1) Bessel’s formula
(2) Lagrange’s formula
(3) Stirling’s formula

(4) Gauss’s formula

Error in Simpson’s three eighth rule is
compared to Simpson’s one

third rule.
(1) Small (2) Negligible
(3) Large (4) Zero

Divided differences method are useful

when

(1) Arguments are equally spaced.

(2) Arguments are unequally spaced.

(3) Arguments advance with unit
intervals.

(4) All of these

In India, the data pertaining to growth
of economy is released by

(1) Reserve Bank of India (RBI)

(2) National Sample Survey
Organisation (NSSO)
(3) Central Statistical Organisation
(CSO)
(4) State Directorate of Economics
and Statistics (SDES)
(=]



27.

28.

29.

30.

31.

Tt S SO et A SR
T$ oft ‘
(1) 1950-51
(3) 1970-71

(2) 1960-61
(4) 1980-81

T T G TS HfSd & % W1
# ST Teha W o T T Fea
ST T 8

(1) TAHDEHERH |

(2) wfead |

(3) T&E T TERH |

@) T ABE T |

TR TR ST SR <6l St 8
(1) s

(2) SHE

(3) U=ETYS

(4) 3 A HE ot 7

3 - R ST YeH T B
(1) T IFREa sl

(2) e Taiiteh &ar e
(3) T i g

(4) Tfiea e

s gl St e o & fore vl Hi
TIRF i TRIFad HaT & I8 T AT 8

(1) = wEor
(2) TR ST

(3) wTgfems whEu
(4) wfaran JrgaTd wdieo

27-

290

30.

31.

Indian agricultural census was first time
held in

(1) 1950-51
(3) 1970-71

2) 1960-61
4) 1980-81

National Sample Surveys Organisation
conducts sample surveys to collect
information about organised sector

(1) Every six months
(2) Annually

(3) Every three months
(4) None of these

Indian Livestock census is conducted
(1) Yearly

(2) Biyearly

(3) Quinquennially

(4) None of these

Neyman - Pearson lemma provides
(1) An unbiased test

(2) A most powerful test

(3) An admissible test

(4) Minimax test

A test which maximises the power of
the test for fixed o is known as

(1) Bayes test
(2) Optimum test
(3) Randomised test

(4) Likelihood ratio test

00 (Stat., Maths., Agri. etc.)



32.

33.

3 JEW Aty & e 6 quEr w5
wieror feham < wehar 2

(1) F-uiigror gro

(2) HE-a qdieor gra

(3) t-afierr g

(4) z-9iEd g

TEM 527 N(U, 02) % TR0 F e
fovam i@ & e (1 - o) fyvem
TOTTe §F, 9T L T4 3

2 _ns? _
D) PlAi—anS— Stan [=1-a
G,

.2 2

ns ns

~2—502 < J:I-a
Xas2 X1-a/2

(3) Al
@) T AP off 7

2 P

34. e wRfeaft & qed =am = s

3s.

8
(1) 3FfEa
(2) i 9g sagEafE § |

(3) BLUE
4) Agf

THIE 3TN % giies & fre fre g9
wel aTet aaf¥ & W= 0% MLE

f(x[0) = 932 ©-x);0<x<0

1) x 2) 2x
X 1
e 4y
3) 5 4 -

00 (Stat., Maths., Agri. etc.)

32. Equality of several normal population

33.

34,

35.

means can be tested by
(1) F-test

(2) Chi-square test
(3) t-test

(4) z-transformation

The confidence interval with (1 - o)
confidence co-efficient for the variance
of the normal distribution N(u, ¢2),
when 1 is known is

i 2
3 ns” _ o
(D) P|xi-on 5:{ Sxafz:|=1—0ﬂ
[ o2 2
@) Pl ged 218 }:1-—0&
3
| Xas2 Xi-o2

(3) Both of these
(4) None of these

Least square estimators under linear
setup are~

(1) Unbiased

(2) Error terms are uncorrelated
(3) BLUE

(4) All of these

MLE of parameter 6 of a population
having density function

f(x|8) = —6%— 0-x);0<x<0

for a sample of unit size is

(1) x (2) 2x
X 1
3 > 4) 2%



36.

37.

38.

39.

e X, Xo ... Xpp N(u, 62) § 6 TH

TrgfRs whied & A Frfofaa # & w.

TR

(1) IX, p % fe o waiw e
MR o2 TER |

2) X2, 02% T U waiw FATher &
A pTAR |

(3) IX2/n, 02 % fTu v T e
aRpeme |

@) ZX; p % e o waiw e @
I o2 7 & 1 I EX2, 02 % e
S T AHes 2 AR I R |
3

Ta-shad WG B RIaH SR
IARF INHeH! B TH KA H aFH
ECInIE

(1) AR NTherhl g

2) FEget eI §I

(3) AT ATHER! GIT

(4) T FTHeTh! g

SRR 3 T o F9 & B FHT ST
27

(1) s
(3) U A

(2) T
(4) sifdw

vragreyh vt G TE & | 98 YA &
(1) wmE frm e |

(2) e | |

(3) Edd Gehe FIH & |

(4) TS =i Fem @ |

TRt <l R 318 8
(1) wEm

2) éw

(3) s

T @) W\

10

36.

37.

38.

39.

40.

If X, Xy, ..., X, be a random sample

from N(u, o2), then which of the

following is correct ?

(1) ZX, is a sufficient estimator for
when 62 is known.

(2) X2 is asufficient estimator for 62

when L is known. ‘

ZX;¥n is a sufficient estimator for

o2 when  is known.

Both ZX; is a sufficient estimator

for p when o2 is known and ZX;?

3
@

is a sufficient estimator for o2
when L is known.

Rao-Blackwell theorem enables us to
obtained minimum variance unbiased
estimators through

(1) Unbiased estimators
(2) Complete estimators
(3) Sufficient estimators
(4) Efficient estimators

Who is known as the father of genetics ?
(1) Lamarck (2) Hugo de Vries
(3) Gregor Mendel (4) Darwin

“Gametes are never hybrid.” It is a
statement of law of '

(1) Dominance

(2) Segregation

(3) Independent assortment

(4) Unit character

The functional unit of heredity is
(1) Chromosome

(2) Protein

(3) Nucleus

(4) Gene

00 (Stat., Maths., Agri. etc.)



41, k x k e = feumea 4, 3R wwor 6

42,

43.

45.

I Hife (d.f) R
(1) k-1)k-2) (2) k2-k-2
(3) kk-1)(k-2)(4) k2-2

G &R 916 S Heh] 1 TG aTe TINT
afTGTTHIGTTaT% :

(1) wifeet v

(2) qufirg ag-3IugHt w1
(3) 3ranfiq Tg-3ugH FEN
(4) 3 G IS oft 7

Th 23 Sg3UIEHT TN I T @ o
T opart e & et Wew W AR 2
?, T Gaur ) T 2

(1) @) (2) 3)
3) @ 4 @
T it Fored & e & 99 % wew

SR €1 g &Y, Faca &
(1) H9E SRERAT s

(2) ETUR FRERAT 5§27
(3) Rl SRE e
4) FH G T

= sREE ¥

HET 0-15

TRETET 17 8 3

HITF E -

(1) 99g IHERaT s

(2) Gt e TR THR H

(3) H=ft S TETR YehR I

(4) g IERAT 527 T Gt 5 et
AR JHR FHT
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41.

42,

43.

45.

In k X k Latin square design, the degree
of freedom (d.f.) of error variance is :

(1) k-Dk-2) 2) K¥-k-2
3) kk-1)(k-2) (@) k2-2

An experiment having several factors
with equal number of levels is known
as

(1) Complex experiment

(2) Symmetrical factorial experiment
(3) Asymmetrical factorial experiment
(4) None of them

A 23 factorial experiment is
confounded into a block of block sizes
2, the number of independent
confounded interactions are
(D) (1) (2) 3)
3) 2 4 @

A series showing the sets of all values
in classes with their corresponding
frequencies is known as

(1)
()
3
4)

grouped frequency distribution
simple frequency distribution
cumulative frequency distribution
none of these

The following frequency distribution :

Classes 0-1510-10] 0-5

Frequency 17 8 3

is classified as :

(1) grouped frequency distribution

(2) cumulative distribution in less than
type

(3) cumulative distribution in more
than type

(4) both grouped frequency
distribution and  cumulative

distribution in less than type
a




46.

47.

48.

49.

50.

st e} s e A i S S R :
(1) =41

() T

(3) femmerai

4) Fad

=T TR o din & forg e g

3 forg g 8 foran wman 2

(1) ei-3Taet hi TR HHT TRAT TG
TR

(2) -3aUe i f= Har qen wgm
TR

(3) wt-rauer 1 Ui Em qn HJgw
Terft SRR

(4) i-Fr=arer ht e i aun wgw
Tl SRS

s Yo1 W 5 TR, w1 awt 30 ferrft. wfa
1 6 e Y a9 HE 8 aYl 91§ BT 15
oy, o1 Tu 45 B, sl s ht @ A
T A & | a9 Lot < siEa i ot

(1) 35TedEr (2) 38 ReiER
3) a2 fEfiEa @) 40 Fefiree

U©, 20) § 0 w1 iftepae awifed
SATeheTeh BT

1

@ 3 X

4) 2Xy

M X

3) 2Xg

T2 t, @ =1 U qaiy Slaesls & @@

(1) m.le. TTH Sfesis 1 Bew g |
@) t,0 % foauaea amfimd & |
(3) t, 0 fere wda wad & |

(4) T A HE T

12

46.

47.

48.

49.

50.

C))

Non-dimensional diagrams are also
known as :

(1) cubes

(2) spheres

(3) pictograms

(4) all of these

In an ogive for less than type
distribution, the points are plotted for

(1

The upper limits of class intervals
and frequencies

The lower limits of class intervals
and frequencies

(2)

3)

The upper limits of class intervals
and cumulative frequencies

The lower iimits of class intervals
and cumulative frequencies.

A train covered the first 5 km of its
journey at a speed of 30 km/h and next
15 km at a speed of 45 km/h. The
average speed of the train was

(1) 35 km/h (2) 38km/h
(3) 42 km/h (4) 40km/h

The maximum likelihood estimate of ©
in U(0, 20) is

M Xg)

(3) 2X;

1
(2) 3 Xn)

4) 2X(n

If a sufficient statistic t for 8 exists, then

(1) mle will be a function of

sufficient statistic
(2)
(3)
4)

t is always unbiased for 6.
t is always consistent for 0.
None of these

00 (Stat., Maths., Agri. etc.)



51.

52.

53.

54,

55.

Ife (T, ) SThereh! i TH Aoft 36 THR &
fFE(T,)>0TWV(T) 508 In>w
T, B

(1) 0% ferw wma

@ T,—E> 8
3) 0% fuEman T, —2— 02!

@) o%RmuEmanT, —L> 0HA
s TE

fm ¥ ¥ a9 @ vlyw ufe @i
IrgfEeRar s e ¥g F B @ 2

(1) y2-udigo (2) wfeeet wE
3) Toegs wlaw  (4) T adieo

TG a1 3 GO0 ¥ T TANT H &
(1) TferesT wigor

(2) T ThE

(3) wamme fae gl

4) Toegs wligm

TG F AT ITeher A JENT B 8
(1) tufoedts

2) y2-sfeesst

(3) FEfests

(4) 3T A B TE

R Xy, Xy ... X, T AR5 aed
NG, DARAT= = i x;2 T AT
ni=1

AT &
(1) p# (2) pr+1
(3) pu2-1 4) p+1l

00 (Stat., Maths., Agri. etc.)
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52.

53.

54.

55.

Let {T,} be a sequence of estimates
such that E(T,) — 06 and V(T;) = O as
n — oo, Then T, is

(1)
@ T,—L2>0

(3) Both Consistent

T; —L 5B

Neither Consistent for © nor

T, -2 0

Consistent for 6

for 0 and

Q)

Which of the following test is used to
test the randomness of a queue ?

(2) Median test
(4) Run-test

(1) x2-test
(3) Sign-test

For testing the goodness of fit we use
(1) Median test

(2) Run test

(3) Kolmogrov-Smirnov test

(4) Sign test

To obtain the confidence interval for
the variance, which of the following
statistic is used ?

(1) t-statistic

(2) x2-statistic

(3) F-statistic

(4) None of these

Let X;, X5, ..., X, be a random sample

n
from N(i, 1), then T = i z x is an
n:
i=1

unbiased estimator of
(1) u? (2) p2+1
@) =1 4 p+1



56.

57.

58.

59.

SRSWR # wfcrest ATeq 1 S0 &

N-n ¢

(1) o? @) —
n

cs'2 N-n )
®) T3 @ n(N-1)
T% CRD & fasewur d st f 2
freorwrele d.f. S.S. M.S.
ITER - e - 31
T w
S| 9 424
as m1ed it Jfe w1 A BN -
(1) 45 2) 30
(3) 60 4) 50
Ifer < STTESH H W e e fafy
=1 1 5 foress wuma Y et B

(1) =it 3 & I=E=H
(2) B Tafy F I
(3) Ta ferero
(4) T AHE T

e T wicT-Foft 1 gfefifre &
aren Aoy freet

(1) U=T+S+C+I

2) U=S+C+1

3) U=T+C+I

4 U=T+S+I

14

56.

57.

58.

59.

In SRSWR, the variance of the sample
mean is

2
m delar. @
n
02 N-n
R 4 2
3 n-1 @) n(N—I)G

The value of the error mean square in
the given ANOVA table for a CRD is :

Source of Variation d.f. S.S. M.S.

Treatment 4 - 31
Error - o ms
Total 9 424
(1) 45 (2) 30

(3) 60 4) 50

Moving average method of finding
trend removes the effect of

(D
(2)
3
4)

long term movements
short term movements
cyclic variations

none of these

In case of annual data, the additive
model representing a time series is

(1) U=T+S+C+1I
(2) U=S+C+1
3) U=T+C+1
4) U=T+S+1

00 (Stat., Maths., Agri. etc.)



60.

61.

62.

63.

TH n AN I AGRSS Ted W
JuTiE Afg O 1 X =IAaH FET ey
R g e f

f(x, 0) = % e0; x,0>0

a9 X 1 TGO B

(1) 6/n (2) 26/n

(3) 6%n 4) 262n

2 wigor w=T grar & e uftehen %
qhegor %ﬁﬁ‘ﬂ :

(1) o2=042

(2) A % HAEA
3) il % e wleor #
4) Iuft

quTE 3 e ot Rt ¥ e w ¥ R
s iE ) aad e T 35 i A
¥ 7fe o8 =fs awe & o8 i a6 w1t
ST & T affed I T 40 Sfife & st
AR B fmfama g -
(1) 55 (2) %65
(3) 275 (4) 245

¥ vafs ¥ Prafefen sl 4 2 o
i 21§ @A g it st F @y
ToraehY o i <t S ARt ?

(1) wfeEsr

(2) sgTH

(3) wreA

(4) B3N GIHh

freaffea i a s ardau o g ?

(&l P = w1, D = qeeh, Q = T §)

(1) Pso=Q;=Ds (2) Q;=Ps5y=Dg
(3) Qu=P5p=D; (4) Q;=P5=D;s

00 (Stat., Maths., Agri. etc.)
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62.

63.
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Let X is the minimum variance bound
estimator of © based on a random

sample of size n from f(x, 6) = —é- e~*/8;
x, 0 > 0, then its variance is

(1) 6/n (2) 26/n

(3) 62n (4) 26%2/n

%2 test is used to test the hypothesis
(1) o2=0y?

(2) Goodness of fit

(3) Independence of two attributes
(4) All of these

The average income of a person on
working for the first five days of a week
is T 35 per day and if he works for the
first six days of the week, his average
income per day is ¥ 40. Then his
income for the sixth day is —

(1) T55 (2) T65
(3) X75 4) T45

Which of the following measures of
central tendency can not be calculated
for open ended class intervals in a
grouped data ?

(1) Median

(2) Mode

(3) Arithmetic mean

(4) Sixth decile

Which of the following relations is true ?
(1) Psop=Q;=Ds (2) Q=Pso=Dy
(3) Q;=Psp=D; (4) Qy=P5y=Ds
where P = Percentile, D = Decile, Q =
Quartile

a



65.

66.

67.

68.

69.

Ife Tk fRR 7o 10 T Yaror | T
ST 8 A TET

(1) 10 ¥ = SR |

(2) 108 §g IR |

(3) IS Sgera & BN |

(4) 1009 =2 JART |

Ife P(A) = 1/3, P(B) = 1/4, P(A|B) = 1/6
aqt P(B|A)

(1) 1/4AFTERY | (2) 1/8HTRE |
() 34FTMRE| (4) 12F TR |

T Fsaet UTE, Y U ATy IBTeH W IEH
Hwra 5 2 TEt W wwEEE e
feaft

(1) 1/6%7
(3) 1/12%

(2) 1363
4) 1242

I “F’ T A1fgeseh W X’ & S o
Hgufarg AR a<b, A P@<X <b)
S

(1) F(@-F(®) (2) F(b)-F(a)
(3) F(+e)-F(a) (4) F(—e0)-F(b)

afe T ATfg=se =R X T W B
fr=fafaa @

X -4 6 | 10
PX=x) | 112 | 1/4 | 1/4
a E(X) g

1 2 2) -2
(3) 4 4) -4

65.

66.

67.

68.

69.

If a constant value 10 (ten) is subtracted
from each observation of a set, the
variance

(1) will decrease by 10
(2) will increase by 10
(3) will remain unchanged

(4) will decrease by 100

Given that P(A) = 1/3, P(B) = 1/4,
P(A[B) = 1/6, then P(BJA) is equal to

(1) 1/4 (2) 1/8
(3) 3/4 @) 12

Two unbiased dice are thrown, then the
probability that both the dice show the
same number is ;

(1) 1/6 (2) 1/36
(3) 1/12 4) 1/24
If ‘F represents the distribution

function of the random variable X and
ifa<b,then Pla<X <b)is

(1) F@@-F®) (2) F(b)-F(a)
() F(+o)~F(a) (4) F(-e)-F(b)

Let X be a random variable with the

following probability distribution :

X -4 6 10

PX=x) | 112 | 1/4 | 1/4

then E(X) will be
(1 2 2 -2
(3) 4 4) -4

00 (Stat., Maths., Agri. etc.)



70.

71.

72.

73.

74.

qam?gammz:[x—;’—‘]wamm‘f

T Be 8 / 8

(D MX (t/o) ) EP-th (/o)
(3) eHrtMy (1) (4) eHWo My (Vo)
% fiue 927 % R wed 4 & v v 3
B 1 98 U e guIial 8

(1) B(16, 1/2)

(2) B(16, 1/3)

(3) B(16, 1/4)

4) B(16, 1/8)

T sed % ol g g e e @

(1) Px+1)=AP(x)

A

3) Px+1)=

G-D) P(x)

A

4) Px+1)= 512

P(x)

Fr=feRaa o @ fora ufteda & gro fgefia
TR & HIe] €24 I TYH THR & e
¥4 | uitafda R s awar 2 2

() y=(>1+x)
3) y=(1-x

2) y=1(1+x)
@) y=1/(1-x

Ilﬁm:nz?hf"—‘d??fﬁq@ﬁf%
() F=1W 2) F>1W

(3) F<1W @4) F#1W

00 (Stat., Maths., Agri. etc.)
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70.

71.

72,

73.

74.

The Moment Generating Function

(MGF) of a random \variable
Z= (X : ”] is

o
(1) My (t/o) (2) emt My (Vo)
(3) BMMy() (4 EWOMy (o)

For a binomial distribution the mean is
4 and variance is 3, then it represents a

(1) B(16, 1/2) distribution
(2) B(16, 1/3) distribution
(3) B(16, 1/4) distribution
(4) B(16, 1/8) distribution

Recurrence formula for the probabilities
of Poisson distribution is given by

(1) P(x+1)=AP()

2) Px+1)= A
(x

p
el

s TR
(3) P(x+ 1) = ﬁ P(x)

4) Px+1)=

p
Grg) @

Beta distribution of second kind can be
transformed to the Beta distribution of
first kind by which of the following
transformations ?

1) y=(1+x)
@ y=>1-x

2) y=1/(1+x)
@ y=1U1-x

If n; = n,, then the Median of the
F-distribution is at

(1) F=1
(3) F<l1

@) F>1
4) Fz1



73.

76.

77.

78.

T 2 =] G & o o THIHE W@
(1) TH gE H HA |

(2) T GER F FHMRR art |

(3) Teh q@ W waad gt |

(4) ¥t 7 et |

W 3FHA o 1Y T i’ Al Th

%’ ITAR ATt Ao sten fewmea o

T AT ol T JATehetd i H1 T 8
bT' +kB'-G'
(b-1)(k-1)
bT' + kB'—kG'

4
b-1Dk-1) 2

@) bB'+bT' -G
(b-1)(k-1)

bB'+kT'-G'
(b-1)(k-1)

1)

3)

gfe FATT-3TeT TWE B AT AT
witrepferdlt  wemtor e o @ ) 3
(1) &0 GHT HEA ¢ |

(2) A FeHT0T HEA ¢ |

(3) Y0 HHTT HE ¢ |

(4) TG HHOT HEd € |

Uy =pU,_ +V, & | p | < 1% for
P 2 o sifveafis U, 3 e
& e adi 2 2

(1). Var. (U) = 1/(1 - e?)
(2) Var. (U)=0c?%
(3) Var.(U)=0%v(1-¢€2)

1
4) Var. (U) = o2 {1-&}
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75.

76.

77.

78.

If the two variables are uncorrelated,
then the two lines of regression will

(1) intersect each other
(2) be parallel to each other
(3) be perpendicular to each other

(4) never meet

The formula for estimating one missing
value in RBD having ‘b’ blocks and ‘k’
treatments with usual notations is

bT'+kB'-G' bB'+bT' -G’
(b-1)k-1) b-1)k-1)
bT'+kB'—-kG' bB'+kT'-G'
(b-Dk-1) ®-1)k-1)

(D )

3) “

If different effects are confounded in
different replications, then it reformed
as:

(1) Complete confounding
(2) Partial confounding
(3) Incomplete confounding

(4) Balanced confounding

For the autocorrelation model U, =pU,_, +
v, with | p | < 1. Which of the following

is the correct expression for variance of
U,?

(1) Var. (U) = 1/(1 - e?)
(2) Var. (U) =0c2

(3) Var. (U) =0c2v (1 -e?)

=
1—82

00 (Stat., Maths., Agri. etc.)

(4) Var. (U) =oc2v {



79. AR X, X,, ..., X, N0, 02) Gq{E 4 T

80.

81.

82.

‘0’ IR H AgFess Tleest &, @ o2
1 JITH 3TTeheTeh &

OVIDIP ¢ 2 Y X2
i=1 =

i=1

@ > X-X)

i=l1

i 2
3) [Z Xi]
i=1

I X T n YTEe 1 HE-T01 W &, al n

% T A & 1Y [2X 1 27 g
(1) N (\/n, 1)
2) N (\/2n,1)

(3 N (\n,2n)
4) N (\/2n,2n)

T T <l Agfemehar 1 e 1 &
7 e 3fa wheo g

(1) Tog wdegm

(2) @ wig

(3) wfeeRt gdtemr

@) Toerriaam fag Avft adiemor

TR YU STTHEH HEIH S S &
iehe HiY e o ford Tl w2,
fem___

(1) fmend
(2) g H
(3) THATR A
(4) FEAH

00 (Stat., Maths., Agri. etc.)
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79.

80.

81.

82.

Lt Xy, Xy
of size ‘n’ from a N(0, 62) distribution,
then the sufficient static for 62 is

n
O XX
i=1

. 2
(3) [ Xi]
{=1

If X is a chi-square variate with
parameter n, then for large n, the

distribution of \fﬁ is
1) N ({n, 1)

(2) N (\2n,1)

(3) N (/n,2n)

4) N (\/2n, 2n)

..., X, be a random sample

2) i X

i=1

@ Y X;-X)?

i=1

To test the RANDOMNESS
sample an appropriate test would be

of a

(1) Sign test
(2) Run test
(3) Median test

(4) Wilcoxon signed rank test

Indian Animal Husbandry Research
Institute which collects the agricultural
data for the Ministry of Agriculture is
located at :

(1) Shimla
(2) Kanpur
(3) Izzat Nagar
(4) Karnal



83.

85.

86.

fefaRea serida s a g ?

(1) T SRy U & iRt # fafm
FAIeEY TeRifa FaFaT R |

(2) T SHery faftm offeufet #
faftr ey wefifa R awar 2 |

(3) T ThR % I-IEIST A T € e
BEHATR |

(4) HEAM BT fTEd w9 @ g e
JAICTEY T THAT R |

w1 3 fope dey Tg & 2
(1) n=4
(3) n=7

(2) n=10
4 n=11

frefaRea wha % =R @1 v gem
o wamar &1 W w1 & R s)me
e g 2

(1) t-odigmor (2) F-udigm

(3) x2-uligm CORA

sp? TeTéfieh Srerr <R ¥fire e 2, sg?
SIS JERVT Y 3R htar & 3R se2
TR STET % 3T ST & | sg2 T
BRI YT fohan ST &

(1)
(2)
3)
“)

sg2 = sp? — se?
sg2 = se2 - sp?
sg? = sp? — se2/2

sg2 = seZ —sp?/2

- 20

83.

85.

86.

Which of the following statement(s) are

true ?

(1) A genotype can exhibit different
phenotypes under same condition.

(2) A genotype can exhibit different

phenotypes  under  different

conditions.

(3) Similar genotypes may have same

phenotype.

(4) Similar phenotypes have

necessarily same genotypes.

In Maize how many linkage groups are

there ?
(1) n=4 (2) n=10

3) n=7 4) n=11

Which of the following tests is used for
testing the independence in linkage ?

(1) t-test
(2) F-test
(3) x2-test
(4) Z-test

sp? denotes phenotypic variance, sg2
denotes genotypic variance and se?
denotes the environmental variance,
then sg2 can be obtained from :

(1) sg?=sp?-se?

(2) sg?=se2-sp?
(3) sg2=sp?-se2
(4) sg2=se?-sp?2

00 (Stat., Maths., Agri. etc.)



87.

88.

89.

90.

AR y = ag + ax + ax2 + a3 B, A

A4y TR

(H 1 (2) (ag+ay)

(3) (ap+ 2ayx) 4) =

T G & 3 o foru fefefaa
T A A gt & w Rigmw 1737 fram
T TR ST Hehe & 2

(1) n=1 2) n=2

3) n=3 @) n=4

W= ‘9’ % Th WTadl Sheh T, %
o fefafea da s ad 2 2

(1) BTy —>g®

(2) Vo(T,) > 03aR&n—

(3) T, g(6) 1 T a b 2 |

(4) $a Eg (T,) — g(6) 3R Vg (T,)
- Oﬂﬁ n— oo

TH HHNd AN H AC T AB W&aA
THRa SRR § 99 SRR
AT & —

(1) ABC (2) BC

(3) ABC3RBC (4) T A% &l

00 (Stat., Maths., Agri. etc.)
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87.

88.

89.

For the expression y=ag+a;x+a? +asx3

A% is equal to
(1) 1 (2) (ap+ay)
(3) (ag+2ayx) (4) zero

Simpson’s 1/3 rule can be obtained by
taking which of the following values in

the general quadrature formula ?

(1) n=1 (2) n=2

(3) n=3 (4) n=4

For a consistent estimator ‘T,’ of
parameter ‘0’, which of following is

true ?

(1) Eg(T,) —g(6)

(2) Vg(T))—>0asn—> e

3)

T, is a biased estimator of g(0)

(4) Eg(T,) — g(6)and Vg (T,) — Oas

n — eo only

In a confounding experiment, the
independent confounded interactions
are AC and AB, then generalised

interaction is —
(1) ABC (2) BC

(3) ABCand BC (4) None of these



91. I T W w9 & Tar 3 F=7 337

92.

93.

9.

9s.

B3N 8, A a1 M aha1 g e s 2
() Fafifamn (2) e T
3) TR Mfaen @) T P T

TH AT wgae #, IRt w5 Rifya
ST g -

(1) e JHaTet & et faig |
(2) S H I W

(3) e i freht @ w
@) ¥ 8 g T

STe 56 & w37 Hfr 1 ke farg
BT R -

(1) W AT .
(2) oI AT
3) wifers

(4) sge

T A o FoTe rwor o1 1qorias 50% 2 3ik
TET T T 25 B, | 9169 51 0 R/
g 2
(1) 8
(3) 14

2) 10
4) 18

2,4, 16 39 32 %7 o ATET 2
1) 27 ) 8
@) 64 @ 32
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91.

92.

93.

9s.

If a distribution is abnormally tall and
peaked, then it can be said that the
distribution is :
(1) Leptokurtic
(3) Platykurtic

(2) Mesokurtic
(4) None of these

In a frequency polygon, frequencies are
plotted against —

(1) Mid point of class interval
(2) Upper boundary of class
(3) Lower boundary of class
(4) None of these

The point of intersection of the ‘less
than’ and the ‘more than’ ogive curves
corresponds to —

(1) Arithmetic Mean
(2) Geometric Mean
(3) Median
(4) Mode

The co-efficient of variation of a
distribution is 50% and the variance is
25. What is the value of the mean ?

(1) 8 (2) 10
@3) 14 4) 18

The geometric mean of 2, 4, 16 and 32
is —

1) 27
(3) 64

2) 8
4 32
00 (Stat., Maths., Agri. etc.)



96.

98.

99.

100.

100 $ehT3E! T THIGR H1EY 50 § | &€
g yrn T foF el 9 3T 1 A |
Top TRt & 150 saTEn T o ARAI § 160
® | ST AT B

(1) 51 (2) 50.1

(3) 60 4) 60.1

Ut frret <1 T TaE W FIAT & 5 AT
ST B —

(1) WA g

(2) s @

(3) SEwH 4
(4) $ HHt gl & 51 bl

% A (SE) 3R wwife 3fe (PE) &
o= fF=fafea # @ 99 @1 gy g
27

(1) PE>SE

(2) PE=SE

(3) PE=0.6745 x SE

(4) SE=0.6745 x PE

frafafea # @ %19 91 %2 e 8; 3R
P(A)#0?

(1) P(B/A)20

(2) P(A/A)=1

(3) P(B/A)=P(B)

(4) P(B/A)=P(A N B)/P(A)

Ffe A 3 B @™ Tifkrshan areft Tl §
3 P(A N B) =p > 0% T e &, O
P(A)?

(1) p2

3 p

(2) p?
@ 2p

00 (Stat., Maths., Agri. etc.)
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96.

98.

100.

The arithmetic mean of 100 items are
50. Later it was found that the value of
largest item which was wrongly
reported 150 is actually 160. The true
mean is —

(1) 51
(3) 60

(2) 50.1
4) 60.1

Sum of absolute deviation is least when
it is measured about —

(1) Mean
(2) Median
(3) Mode
(4) Nothing can be said

Which of the following relationship
between Standard Error (SE) and
Probable Error (PE) is correct ?

(1) PE>SE
(2) PE=SE
(3) PE=0.6745x SE
(4) SE=0.6745 x PE

Which of the following statement is
false; if P(A) #0 ?

(1) P(B/A)20

(2) P(A/A)=1

(3) P(B/A)2P(B)

(4) P(B/A)=P(A N B)/P(A)

If the events A and B have equal
probability and are independent with
P(A N B) =p >0, then P(A) is

(1) p2 @ p?
3 p @ 2p
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